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number and it contains 35 tions.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination. .

a3 :
General Instructions :

() & g ofad &

All questions are compulsory.
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(i) 797 #9% 1 @ 35 7% aghe F77 &1 F9F F47 1 g% 7 & RESIFEr §7 559 &
GTe :

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

Select the correct option of the following multiple choice questions :

1. fecgHe @@ A R Igrega dide § ¢ 1
) 8 (B) 4 |
(C) 6 (D) 12

Number of tetrahedral voids in the fecunit cell is

(A) 8 (B) 4
(C) 6 (D) 12
2. gEenErd faeel § qu g § ‘ 1
(A) = Q& (B) TTETT T
(C) g<m T N (D)
>
S
Isotonic solutj&xgs are the solutions having same :
(A) Concentration (B) Osmotic pressure
(C) Surfac;: tension (D) Viscosity
3. Mg|Mg? |cu?* |Cu & iR 3 R :
(A) U5 % &1 F Mg B) WS =T Cu
(C) Cu @& FFEH FF (D) SWH F § B 73
For the given cell reaction Mg | Mg'2+ | Cu?* | Cu :
(A) Mg as cathode (B) Cu as cathc.:de
(C) Cuis o_xidizing agent (D) None of the above
5620/(Set : Ay Il
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4. fr=fafen O Rexis & ol @ife s/ At - - 1
K =2.6x10"L mol's!
(A) 59" (B) TH
Q) Faha - (D) ¥ J HE T
Identify the order of reaction from given rate constant :
K=2.6x10"L mol'S"
(A) First | (B) Zero
(C) Second ‘ (D) None of these

S.Wmﬁqm:gﬂraﬁﬂﬁﬂ?aﬁw? | 1
(A) HREYAT
(B) IoER-TERd
() fvsa @
(D) ¥ & PR A .
Which property of colloids :%@t d§pcndcn1 on charge on colloidal particles ?
(A) Coagulation &§
(B) EIectro-osmosisQ\Q%
(@ Tyndall effects
(D) None of these

6. M AT WM AR MG ? _- d
(A) HCIO (B) HCIO;
(C) HCIO, . (D) HCIO,4

Which of the following is strongest acid ?

(A) HCIO ' (B) HCIO,
(C) HCIO;, : (D) HCIO,
5629/(Set : AY I : | . - P.T.O.
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-

7. Fr 3 @ P a9 e 78 i@ 2 7 - - | | 1
(A) RREA (B) fae™
() e | (D) TR
Which of the following element does not show allotropy .?
(A) Nitrogen (B) Bismuth_
(C) Antimony . | (D)= Arsenic

8. P-ur awd Madi sdfder ot 787 Remnr ? - : 1
(4) Se . B) V

(C) Fe ' ] (D) Hg.

rWhich element does not show variable oxidation state ?

(A) Sc ' . @B V
(C) Fe (D) - Hg
9. =1 aiterdiser sEesti & @ o ¥ gaq 9 ® ' 1
(A) +4 N B) +3
»
(C) +2 \Q‘Zr (D) +5
@Q

https:/fwww.hﬁgyanabnard.com

Which of the following oxidation state is most common among the lanthanoids ?

(A) +4 (B) +3
€ +2 (D) +5

10. AR [Co(NH3)s(CO3)|Cl B Iuweadior a1 &t ?
(4) 6 | (B) 3
(C) 4 R D)y 2

' What is the co-ordination number in the [Co(NH3)5(CO3)]Cl compound ?
(A) 6 By 3
© 4 . D)2, .
5629/(Set: AY Il .
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11. K[Co(CO)4] & Fawe 3 itewdiiator wem 2 - 1
A ® -1
(C) +3 D) -3
The oxidation number of Cobalt in K[Co(CO)4]is :
(A) +1 B -1
(C) +3 (D) -3
12. O WAE e 2age e @ afar | 1
@ s | (B) SN’ |
(©) Pt 0 @ @ 7@
A primary alkyl halide would prefer to undergo :
(A) Sn* (B) S’
(C} Elimination , (D) None of these
13. 3 F TH T & ¢ . ’
(A) CnHopn+10O (B) CprH2,0
(C) CnH2n420 (D) CpH2p-20
Molecular formula of ctheps is :
(A) CnpHonn©O (B) CnH2,0
. (C) CpH2n420 _ (D) CnpH2q-20 |
14. Py F waw o BA-81E 7 : 1
(A) CH30H (B) CHs?HQOH : '
(C) (CH3)CHOH D) (CH3)3COH

Which is strongest acid in the following ?
(B) CH3CH;OH

(D) (CH3)3COH

(A) CH3OH

(C) (CH3)2CHOH
P.T.O.
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15. gseM 3R T8 I §

(A) THE (B) T

(Q  3-¥H | (D) 2-9AA
lodoform test is not given by :

(A) Ethanol (B) Eﬂmnal
(C) 3-Pentanonc (D) 2-Pentanonc

16, ATAT [T IqUeS AR qorar L
(A) Ar-CONH, (B) Ar-NO,

(@) Ar-NH, (D) Ar-OH

Hoffmann Bromamide degradation reaction form :
(A) Ar-CONH, (B) Ar-NOp
(QQ Ar-NH, ' (D) ‘Ar- OH

17. =1 ¥ § $9-91 & RNA ¥ 2 3T DNA X 987 ?

(A) G| - \@'Q\ .(B) e
© T - > D) T
Which base is prcs@@‘?n RNA but not in DNA ?

(A} Thyamine @ (B) Cytosine
(C) Uracil x\ ) (D) Guanine

18. & @ 998 994 & fow S-a1 faafq Rier 2 7

(A) feafmC | (B) f=f= D

(C) frifE B, | D) Rrerfm K
The Vitamin responsible for the coagulation of blood is :
(A) Vitamin C ' (B) Vitamin D
(C) Vitamin B, | (M) Vitamin K
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R : Frefifar godt & Gt qwd =l I 7 d

Answer the following questions in one-two words/ sentences :

19. Hehd A9 T2 ? : 1

What is Frenkel defect ?

20. aN T 9T Y& & A F Rdw Fx & @ Sl 6 ? 1

Why gascs less soluble in liquids as temperaturc is raised ?

21, WaW JgY-HEE F 8 ? 1

What is strong clectrolyte ?

22. gikgu Tt & gfofie Fif -1

Define activation energy.

23.mmmmﬁm@ﬂ&mm%,mWMﬁW? 1
What is observed whgg‘a beam of light passed through a colloidal sol ?
N
D
24, avEd s OB ? |

What are ambidentate ligands ?

25. FiES s F e ? q

What is Carbylamine Reaction ?

26. AW 3 I YT A B SURI 3 T B A FQ § 7 1

What are the expected products of hydrolysis of lactose ?
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(8)

R . Ty =l § REw et a7 gy #i
Fill in the blanks by appropriate words :

28. HfERA F Fw AT ARG F FAQ 4% @ G ARG o g, B ..

Rate of reaction controlled by slowest step called ............ .

5629/(Set

29. WHFE I § HHAY deal B IAFIAE @ ooeveeennnnn 2l

The general electronic configuration of transition element is ............ .
30. [Cu(NH3)4)SO, WFw AFE & ............. = & 2 R

............ ions produced from complex compound [Cu(NH3)5]50;, .
31. CH;CHoBr+ Nal — ............ + NaBr.
32. CHaCH,0H —H2%C4 ., . .

443 K
N
K\Q

33. CH;-CH = CHCHO @: H TUPAC T wevveenene

O
1s the IU@% name of the compound CH3 - CH = CHCHO.

S
34. K3|AlCy04)3] % AR F IUPAC TH .............

............

............

Dc

{

is the JUPAC.-name of the complex compound K3|AlNC;04)3].
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